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General Instructions:
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All questions are compulsory.
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The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.

MU TF 7 fawea e ¥

There is no overall choice in this question paper
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Use of calculator is not permitted.
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Question numbers 1 to 8 carry 1 mark each.

Q1 The system of equations

4X+ﬁ}‘=?, |2:k.1—!-]3}.--.—21 has ]

a) No solution

b)infinitely many solutiong c¢) Unique solution d) None of the above

Q2 If xyi's a factor of x* — 3ax + 3a-7, then the value of a is
1 -1 g0 d) 2 :

%
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{a) x—y=4 2x+3y=5

(b} 2x—y=55x+2y=11

{c) 3x4y=0x+2y=—5

{d} x+y==2 4x+3y=5

A pair of linear equations which has a unique solution x=1and y= —3 is;
{a) x—y=4 2x+3y=5

{b) - 2x—y=05, x+2y=11

G Ixty=0,x+2y=-5
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(d}” ‘x+y=-2 dx+3y=5
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If 2 polynomial of degree 5 is divided by .:;o#-.rnumial of degree 3, then the degree of the quotient Is :
{A) less than 2 } equal to 2
(C) equal to 4 (D} more than 4

AABCH /B=90° 4R BD L ACE! FEAC=9cm STAD=3cm B, TED T & :

a) 22 em (b} 342 em

(c 23 cm {d} 3.5 em

in A ABC, #B=90°and BD L AC. if AC=9 cm and AD=3 cm then BD isequal to :
(a) 22 em #:r}" 3.2 cm

(¢ 25 em (d 35 em

AABCH cosec fiﬁ_}‘i] R

@l/: sec [:;i] (b)  cosec
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{c) sin {i] (d} Cos in‘]

LE s

Bt CXo
In AABC, cosec | | is equal to :
1 2, A
(@)  sec| f] (b)  cosec| i]
{c) sin r;:-] {d) oS [i]
sin30Pcosé0° + sinb(Fcos30° F 9H & ; 1
Ay = ® 2
4 4
. 3
& 1 (D) = <
The value of sin30°cos60” + sind0 cos30° is :
1 2
7 e gl =
@ 2 ® 2
1 By o=
o o 2

n Heyoli S e X &1 AT guw Yew 1 ww fem o, R H 2, awr gl veR oW, A AeE E . L
E=s : T M —+11.+'i ot 1 i &
(A) x+n (B) X - @) X : D) X -

The mean of n cbservations is x . If the first item is increased by 1, second by 2 and so on,
then the new mean is :

= o ~. ntl = n-1
X tn Fo— C + *
(A) X {B) X : M x : ™ x ;
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Question numbers 9 to 14 carry 2 marks each.
__'_,__,.....u:;
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\99/ Without using trigonometric tables, prove that tan7" tan 23 tan 1 607 tan 67" tan 8
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Form a quadratic polynomial p(y), the sum and product of whose zeroes are —15 and 56

respectively.

\)Z %ﬁ%ﬂgﬁﬁmm%wiamL{g
3-£m3'£_
5

Form a quadratic polynomial whose zeroes are
5

J{z HFFTA ¥, AABCA“APQR, ADLBC A#I PSLQR ¥ 981 AD : PS=4.9 % 272 ABC) o i

ar (& PQR}
A P
/"\ ﬁ._
/ \
5 e V53 R

A
In the ﬁgure, AABCu ﬁPQK F'I.DJ_EC, F'SJ_QR and AD : PS =49, Find ar (& ABC)

ar (4 PQR)
A /Ij\
g5 e U R
1 aE 2 cos 30=1%, 71 0 F WE T Fifa0, p < 90° 31
If 2 cos 36 =1, find the value of § when 8 < 90°
\f (T otd =1 0 ol ) a9 & =0 & e -
el 50-55 |55-60. |60-65 |65-70 |70-75 |75-80 |
ARG ;|2 8 12 | 24 38 16
Convert the following data into more than type distribution :
Class : 50-55 |55-60 |60-65 [65-70 |70-75 | 7580
Frequency: |2 {8 12 24 38 16
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: Question numbers 15 to 24 carry 3 marks each.

[ @6 Consider the following distribution of daily wages of 50 workers of a factory 3
Dall}l E}v;gl;%ﬂis-} No. of ;r;urkers
120-140, 14
140-160 g
160-180 6
180 -200 10
Find the mean daily wages of the workévs. 3
JrG For what value of a and b the pair of linear equations has coincident lines on the graphical
representation. i
2x—y=5

(a—2b)x—(a+b)y=15

e fel R ad—5r+c YR AN O T T SF 10, W 2’ I F W W 3
it |

If the sum and product of the zeroes of the polynomial ar’— 5z + ¢ is equal to 10 each, find the
value of ‘a’ and 'c’.

18 argqaf—ﬁf+11x—6#wwmﬁmﬁﬁm&wﬁmﬁl 3

Find all the zeroes of the pelynomial =622+ 11x— 6 if two of its zeroes are 1 and 2.

19 ABCTH e ¥ #R b Y & S AB 1 p W 3T AC FHQ F e ¥l A AP=2cm, PB=6cm, 3
AQ=2.5 em # QC=75 cm 2, fi fag wifeTy fa
AABC T SEe T APQ 3 SITE 1 HieE T ¥

ABC is a triangle and PQ is a line meeting ABin P and AC in Q. If AP =2cm, PB=6cm, AQ=2.5cm and
Qc=75 om, prove that area of
AABC is sixteen times the area of AAPQO.

W 4 s LMCBAIN|CD 1 g Fif i 2 - A =

AE AT
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In the given figure if LM||CB and LNJ|CD. Prove that i R
AB  AD

fl APQR # Q TH#1" &, PR+QR=25 841, SR PQ=527. #1 sinP, cosP 3 tanP % 5 TR 3
Fifa |

In APOR right angled at Q, PR+QR=25 cm and PQ=5 cm. Determine the value of sinP,
- cosP, tanP ;

A tand +coth=2, T tan 0+ cot B T [HF T FIAT | 3
If tanfl + coth = 2, find the value of tanl!’-] + cutzﬁ.

%

,\}4 1 SIRERET =27 %1 e 62.8 # 1 W AWARE ¢ J1d ST ; 3
=1 ; AR
| 0-20 5
20-40 |8
40 - 60 X
60 - 80 12
80 - 100 ok
100-120 |8
The mean of the fDllnwEgrfrequenc}f distribution is 62.8. Find the missing frequency x.
Class | Frequency
0-20 5
20-40 8
40 - 60 x
60 - 80 12
80-100 T
100-120 |8
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-!92,5 In an equilateral triangle ;—\.BC.__ D is a point on the side BC such that BD = I
3

foer Rl & few T sl 1 W 508 | @ SeRan AT f, T f, T BT - e
T 10-30|30-50 | 50-70 | 70-90 | 90-110 | 31

ARERTT {90 fiy 30 f 40 | 200

The mean of the data in the following table is 50. Find the missing frequencies f, and f.

Class ; 10-30 | 30-50[50-70 [ 70-90 ] 90— 110 | Total

| Frequency : | 90 i 30 f 40 200

|us-g / SECTION - D
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. Question numbers 25 to 34 carry 4 marks each.

that 9 AD? = 7AR?

\‘/26{
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x—¥+1=0
Bx+2y—12=

o

ﬁﬁﬁﬁﬁ?wammmﬁga#mmmﬁm
Solve graphically

x—y+1=0
Irx+v—12

=0

and find the vertices of the triangle formed by these lines and y-axis,

BC. Prove

ofs UF @U9 F @€ 5 IRE FH F o 99 a4 9% 3 IEE = o 99, o 39 d9va 4
o o7 3 W B W &1 I dan 3 g wm < 9 aur 95K 2 59 s & 9, o SEd 67
THIR 9% 9 ¢ AR F1 ufey g st

The area of a rectangle gets reduced by 9 square units, if its length is reduced by 5 units and
the breadth is increased by 3 units. The area is increased by 67 square units if length is
increased by 3 units and breadth is increased by 2 units. Find the perimeter of the rectangle.
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State and prove Thales theorem,

@/ qﬁwﬁgaﬁe’r@rﬁﬂmﬁﬁ‘ﬁﬁwﬁnﬁu‘mﬁmfﬂﬂﬁaﬁwﬁﬂmﬁ.Fra:nr

4
e % GAIAE €, 9 g #if s 26 fe agen ¥
If two sides and a median bisecting one of these sides of a triangle are respectively
proportional to the two sides and the corresponding median of another triangle, then prove
that the two triangles are similar.
Vé ﬂﬁsecﬂ——a%Tﬁﬁgﬂ{ﬁF?bmﬁ_SCU&H 33 4
4 5in® = g cost
2 sinf — 3 cosh
If sec= — show that —————~_ =3
5 4 5in® = 9 cpgf
j/( few 7 =3 & Apco U Wi =q4a &, T8 pC = 10 cm R BC = o E em F1 AR APL cD 3 4

ZADC = 60°. 10

VAN
60° /

{i) AP i TS F19 Fifag
(i) W =S ABCD F AFEE W Fifww

In the given figure ABCD is 2 parallelogram in which DC = 10 cm and BC = 4+/3 cm. AP DC. If
ZADC = B0 Find

A B
/Tlll

:

{i) length of AP

(ii] Area of parallelogram ABCD,
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If sint = ﬁ and d = 0, find the values of cosf and tanf.
g Tood

¥ T arfera § f %1 B 9 RIS A1Q 39 %1 Sgo 65 o 01 5B AT 6, 8, f AA1 12 HRIE #a8 ¢l 4
' a 0-20 |20-40 |40-60 |60-80 |80-100 |100-120 |

IS | 6 8 i |2 |8 5 |

Find the value of fi from the following data if its mode is 65 and frequency 6, 8, fi and 12 are in

| ascending  ooded,.

Class 0-20 |20-40 [40-60 |60-80 [80~100 [100-120
Freguency |6 B f 12 —1'& 5
3¢ [ e sl o A 525 § 0o AR A 1008, 7 29Uy % A T R 3

=1 0-100 | 100 - 200 | 200 - 300 | 300 - 400 | 400 - 500 | 500 - 600
AREAR ;| 2 5 x 12 17 20 J
ELl 600 - 700 | 700-800 | 800-900 | 900 - 1000
SRaRE: | Y 9 7 4 '_1
Find the values of x and v, if the median of the following data is 525 and total frequency is 100.
L 0- 100 | 100 —200 | 200 - 300 | 300 - 400 | 400 - 500 | 500 - 600
| Frequency | 2 |5 x 12 17 | 20
ClL (600 - 700 | 700 - 800 | 800 - 900 [ 900 - 1000
| Frequency | ¥ 9 7 .
..{"
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